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Job 41306: Cloud charge snapshots (unitsare cm)
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Job 41306: Fitsto cloud charge X distribution
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Job 41306: Fitsto cloud charge X distribution
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Job 41306: Fitsto cloud charge X distribution
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Job 41306: Fitsto cloud chargeY distribution
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Fitsto cloud charge Y distribution
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Job 41306: Fitsto cloud chargeY distribution
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Job 41306: Fitsto cloud charge X distribution
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Job 41306: Fitsto cloud charge Y distribution
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Electron Density (1012 m'3)
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Beam-averaged density prior to filled bunches (1012 m'3)
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Job 41306: Field Gradient dE, /dX (V/m°)
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Job 41306: Field Gradient dE, /dX
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Job 41306: Field Gradient dE, /dX (V/m")

3300 r T T ‘ ® ] 3600 7 ‘ ‘ T T ]
- ® i I ® i
B ¢ 5 B ° ° 5
3200 |- o o 3500 |- -
. Bunch 21 - - ® Bunch22® -
B ° 7 B ]
3100 | ® o o - 3400 |- —
E ! \ ! ! \ ! I E ® ¢ o ! \ ! I
280 280.2 280.4 280.6 294 294.2 294.4 294.6
4000 T T T T T T 4400 T T T T T T
\ [ e i \ e ]
B ° ° B ° ° |
- . . B . |
Bunch 23 4200 | Bunch 24 _|
3800 [— . . — L |
B | | o |
| .\ , | | | ‘ | | | .\ ‘ | ‘ | |
308 308.2 308.4 308.6 322 322.2 322.4 322.6
4800 T T ‘ T T ‘ \. T T 5200 [ T T ‘ T ‘ \. T T ]
: ® ® : - ) [ ] -
- i 5000 | °_|
4600 — ® Bunch25 | - Bunch26
- [ ] — | _
e o - 4800 |- ® o -
4400 | ’ , | | ‘ | | | | , | ‘ | |
336 336.2 336.4 336.6 350 350.2 350.4 350.6
5600 [ T T ‘ T T ‘ \. T T ] 6200 B T T ‘ T ‘ \. T T ]
L ° ° . B d ° |
- o 6000 | -
5400 - Bunch 27 ] - Bunch 28 = 1
5200 |- .\ ® o \. l | l L . @ e o l | l L
364 364.2 364.4 364.6 378 378.2 378.4 378.6
6750 j T T ‘ T T ‘. \. \. T i 7250 j T T ‘ T % | J \. T i
- ] B ®
- . | | . |
6500 | ° - 7000 | -
- o Bunch 29 B Bunch 30
6250 | o . o - 6750 | o . -
L | | ? | | ‘ | | ] L | | | ‘ | | ]
392 392.2 392.4 392.6 406 406.2 406.4 406.6



Job 41306: Field Gradient dE, /dX (V/m°)
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Job 41306: Field Gradient dE,, /dY (V/m?)
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Job 41306: Field Gradient dE,, /dY (V/m?)
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Job 41306: Field Gradient dE,, /dY (V/m®
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Job 41306: 50 Central Density (10" m™)
T T T T ‘ T b 4 T T

1 ; é 04 |— * |
I ] - Y o |
Op-® ® o o o o o optcfhi®] 035 - . o Bunch 2
B . - . i
TE A - 03¢ e | 1
0 0.2 04 0.6 1 14.2 14.4 14.6
- T ‘ T T ‘ \. ™ \. —] - T ‘ T T b \. T T —]
0.45 — 055 |— o ° |
. .
| ] [ J
04 |- ® Bunch3 | I o ©® Bunch 4
. 05 |- . =
o . ° . | i . °
0.35 *.\ ! ! ‘ [ ] ! | ! [ Py ! ! | ! ! | ! !
28 28.2 28.4 28.6 42 42.2 42.4 42.6
0.8 T T ‘ T T ‘ T T ] 1 T T ‘ T T ‘ T T ®
- e o © - B o ©® 7]
| ) | I [ ] |
07 |- — i ° ]
I~ ] [ ]
5 ° Bunch5 1 0.8 |- Bunch6
06 [ ] — = ) |
C e o o © § i o * i
05 [ \ \ | \ \ | \ L 0.6 [ ] \ \ | \ \ | \ \
56 56.2 56.4 56.6 70 70.2 70.4 70.6
1 T T ‘ T T ‘ \. \. o | 1o [ T T ‘ T T o \. o ®
- [ ] — | |
o L] |
08 | . Bunch7 s ¢ Bunch8 |
8 2 L . b
[ ] [ ]
| [ ] | | ° B
® e .\ | ! ! | ! ! e o ! | ! ! | ! !
84 84.2 84.4 84.6 98 98.2 98.4 98.6
] T ‘ T T ‘ ® o _ | T T ‘ T T ‘ T T o |
12 () L] ) [ ) [ )
- m 14 — —
- [ | - [ ] .
1l ° Bunch 9 = 12 } Bunch 10 {
| ) ] | a
| [ ] ] [ ]
0.8 .\ .\ .\ ‘ ! ! ‘ ! ! 1 L .\ .\ o ©® ! ! ‘ ! L

112 112.2 1124 112.6 126 126.2 126.4 126.6



Job 41306: 50 Central Density (10" m™)
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Job 41306: 50 Central Density (10" m™)
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Job 41306: 50 Central Density (10" m™)
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Job 41306; Beam-weighted Density (10 m®)
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Job 41306: Beam-weighted Density
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